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JRETELE gBafEg n = = 1B =Z 1B B &
BEERRIHE 27£€ |<H/( 122.7 400 30
JU 396.8 61 20
_~ 31.7 269 222
I5A 71.4 790 100
HFHES 51.0 50 30
> up YAVIN 129.9 1,630 1,060
S5 950.3 1,119 200
XXF 353.3 490 139
AFIH 1,208.3 2,100 200
ROARD 88.2 1,500 50
ERE 208 =y i) 26.1 249
dAE AN 26.8 111
mUiE 28 S 40.6 1,050 600
BHE 6t Ry FFf 1,343.0 451 220
#D 31 JU 38.2 81 46
hC 44& EXTVYVRS 218.6 155 100
EXAVHA 38.6 139
ait#E 5,135.5
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EEXFE 27 |5 92.2 1,600 400

RZF 708.1 550 200

LB 18% NSD4 531.9 5,800 1,500

MU 2& RZF 22.7 550 450

8o 31% ESX 147.4 2,000 1,000

hT 44% <40 5,815.3 1,150 600

aitaE 7,317.6




